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1. 3a° (-2a) = (C )
A. - 12a3 B. - 6a? C.12a3 D. 6a2

2. THE (2x—1) (5x+2) &TF( )
A.10x*—2 B.10x*—x—2 C.10x"+4x—2 D. 10x’—5x—2
3.4IR (x+1) Gx+a)HIRRPAE x —&KI, Way ¢ D
A.-5 B.S C. % D. - %
4F 2N T MR EE, Hp—aKA 2a+b, H—HAKHNa-b,
WZKGHRERA ¢ D

A. 6a+b B. 2a? - ab - b? C.3a D.10a-b
5.850 x+y=2, xy=-2, W (1-x) (1-y) WEN C )

A. 1 B.1 C.5 D. -3
6. THIEHIEFHKIZ D

A. 4x%y - xy*=3x2y B.3 (x-1) =3x-1

C. - 3at+7a+1=- 10a+1 D. - (x-6) =-x+6
7RI HESRPL ¢ D

A.2x (2x343x - 1) =4x*+6x? - 2x B.b (b%-b+1) =b?- b*+b

C. - %x{2x2—2}=—x3 D. %x(§x3—3x+1)=x4—2xz+gx

8.8 M=(x-3)(x-7),N=(x-2)(x-8),l M 5 N IR A( )

A. M<N B. M>N C. M=N D. NEeHE
=, HZEE

9. TH& (-3x"y) * (%xyz) =
10. it%&: (-5a")+(-8ab)=__ .

11. E8mtn=mn, WM m-1)-1)=___ .

1215 : (-2x%y) 2 (-x%?) = . (x+1D) (x-1) (x*-1)




13.24 m+tn=-3, mn=5, ] (2-m) (2-n) KIEN .
145 (x+3) (2x - a) HIEBH, —RMAFN -2, N a=
15 (x-4) (xt8) =x*+mx-n, W m. n K{fESHIE )

A.4, 32 B.4, -32 C. -4, 32 D. -4, -32
=, i
3 n2 vl bal
®3ae ( -2a) ? ®( Tb ﬂj(3baj
® (-8x10°) x ( -3x10%) @ (5mn? - 4m*n) ( - 2mn)
i (5x+2y) (3x—2y) 3a(2a’-9a+3) -4a(2a-1)

4 (a+2) (a+l) — (at+3) (a—3) (a+2b) (3a-b) - (2a - b) (a+6b)



